mathrm a'N

HR000
O

=
5000
JH000
ggooo
19000
O
19000
<

©
12000
QI—
6000
£
£000
=
5000
prd

4000
S

%@ooo
=

Ratio to CMS
[N

0.5

13000 GeV pp Jets
- - r - ' - T - r 1 - T - 1 T T T T g
o
Groomed LHA)\é ¢ (charged only) (CMS jet substructure) o
' =
m CMS g
—a4— Pythia 8.308 default S
-
™
3]
=
o

mcplots.cern.ch [arXiv:1306.3436]

IIII|III|III|III|III|III|III|III|III|III|III|III
IIII|IIII|IIII__III|III|III|III|III|III|III|III|III|III|III|III1_I

:’_-4_-_?_-_;_-_‘-_—_#_-_#_— I- - | |

3 2

- 1

| —0.5
| . 1 . 1 . 1 . 1 . I . 1 . 1 . 1 . 1 . |

0 0.5 1

groomed LHA (charged-only)



	Contents
	Page 1


